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R
Wigner's semicircle law (Wigner 1955)

10 eigenvalues of GUE(10)
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Wigner's semicircle law (Wigner 1955)

10 eigenvalues of GUE(10)
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R
Wigner’s semicircle law (Wigner 1955)

100 eigenvalues of GUE(100)
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R
Wigner’s semicircle law (Wigner 1955)

3000 eigenvalues of GUE(3000)
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One-matrix case: Wigner’s semicircle law
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One-matrix case: Wigner’s semicircle law
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One-matrix case: Wigner’s semicircle law
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NN
GUE + deterministic (diagonal) matrix

e Ay + Dy
AN GUE(N)
Dy = diag(—2,—-2,-1,1)
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NN
GUE + deterministic (diagonal) matrix

e Ay + Dy
AN GUE(N)
Dy = diag(—2,—-2,-1,1)

0 Uy = %(25_2 +0-_1+041)
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GUE + deterministic (diagonal) matrix
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g = %(25_2 +0_1+041)
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via subordination iteration
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-
GUE + deterministic (diagonal) matrix

0.3

o Axy +Dn
Ax GUE(N)
Dy = diag(—2,-2,—1,1)
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° : : H H ‘ N | e eigenvalues of Ay + Dy,
for N = 3000
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-
GUE + deterministic (diagonal) matrix

b o Ay + Dy
| An GUE(N)
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via subordination iteration
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for N = 3000
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sum of two randomly rotated diagonal matrices

e D1 +UDU*
Dy = diag(—2,—1,1,2),
Dy = diag(—2,—2,—1,1)
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sum of two randomly rotated diagonal matrices

e D1 +UDU*
Dy = diag(—2,—1,1,2),
Dy = diag(—2,—2,—1,1)

° [y = %(5—2 +0_1+ 01+ d2)
U2 = 1(25_2 +6_1+ 51)
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R
sum of two randomly rotated diagonal matrices

0.35

0.3

e = %(6_2 + 01481+ 69)
Yo = 1(25_2 +6_1+ (51)

@ iy H po
via subordination iteration

o1
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sum of two randomly rotated diagonal matrices

0.35

e D1 +UDyU*
D, =diag(—2,—1,1,2),
Dy = diag(—2,—-2,—1,1)
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@ 3000 eigenvalues of
0 y . 1= o Dy +UDyU*
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sum of two randomly rotated diagonal matrices
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e D1 +UDyU*
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